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We have listed below the best Cloud Computing M CQ Questions, that check your basic knowledge of Cloud
Computing. This Cloud Computing MCQ Test contains 30+ Multiple Choice Questions. You have to select
the right option for every question to check your final preparation of Cloud Computing. apart from this, You can
also download below the Cloud Computing MCQ PDF completely free.

Q1. Cloud computingisa..............

A. reliable system
B. stateless system
C. stateful system

D. None of the above

Q2. Which option isrelated to service provided by Cloud ?

A. AaaS

B. Reliability
C. Sourcing

D. Ownership

Q3. isthe essential concept related to Cloud?

A. Reliability

B. Abstraction

C. Productivity

D. None of the above

Q4. Which of the following can beidentified as cloud?

e A. Intranet
e B. Hadoop
e C. Web Applications


https://www.onlineinterviewquestions.com/
https://www.onlineinterviewquestions.com/cloud-computing-mcq/

o D. All of the above

Q5. Does 2 types of security boundary values exist in Cloud Cube model?

e A. Yes
e B. NO

Q6. Which of thefollowing option isthe laaS service provider?

A. EC1
B. EC2
C. EC10
D. Hybrid

Q7. what isthe most important area of concern in cloud computing?

A. Storage

B. Scalability

C. Security

D. None of the above

Q8. Which of the following featur e allows you to optimize your system and capture all
possible transactions?

A. dasticity
B. scalability
C. reliability
D. None of the above

Q9. What issurely an impediment to established businesses starting new enter prises?

A. Capitalization
B. Proposition

C. Globalization

D. None of the above

Q10. What isthe highest degree of integration in cloud computing?



A. AaaS
B. SaaS
C. PaaS
D. CaaS

Q11. Does VM c allow different operating systemsto run in their own memory space?
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Q12. Which of thefollowing isnot a major cloud computing platform?

A. Microsoft Azure
B. Amazon EC2

C. IBM Deep Blue
D. Google 101

Q13. Does Cloud Services have a oneto many relationship with their customers?

A. Yes
B. No

Q1l14. ThePrivatecloud isa -

A. A cloud service inaccessible to anyone but the cultural elite

B. standard cloud service offered viathe Internet

C. cloud architecture maintained within an enter prise data center.
D. All of the above

Q15. Cloud Foundry isa -

A. industry wide PaaS initiative

B. VMwar e-led open sour ce PaaS

C. factory that produces cloud components
D. None of the above



Q16. Which of thefollowing ar chitectural layer isused asfront end in cloud computing ?

A. cloud

B. client

C. soft

D. All of the above

Q17. Which of the following option allows different operating systemsto run in their own
memory space?

A. VMC
B. VMS
C.VMM
D. None of the above

Q18. Which of thefollowng isa CPU emulator and virtual machine monitor?

A. QEMU
B. Parallels
C. Pardllels
D. None of the above

Q19. Choose the correct statement

A. Platforms represent nearly the full cloud software stack

B. A platform in the cloud is a software layer that is used to create higher levels of service

C. Platforms often come replete with tools and utilities to aid in application design and deployment
D. All of the above

Q20. Which of thefollowing is not a major type of cloud computing usage?

A. Platform as a Service

B. Software as a Service

C. Hardware as a Service
D. Infrastructure as a Service

Q21. What istherelation of the capacity attribute to performance?



A. same

. Similar

. different

. None of above
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Q22. ........... iIstype 1 hypervisor.

KVM

. LynxSecure

. Virtual Server 2005 R2
. Wind River Simics
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Q23. ..o isa more sophisticated load balancer.

. workload managers
. rackserve managers

. workspace managers
. None of above
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Q24. .............. gives statistical information on different search terms.

. Tool

Stats

. Trends

. None of above
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Q25. Which of the following factors might offset the cost of offline accessin hybrid
applications?

A. costs

B. scalability

C. ubiquitous access
D. All of the Above

Q26. which one of the following isa model for cloud computing?

e A. county
e B. public



e C. Ethernet
e D. topology

Q27. What arethe security risks of cloud computing?

A. Compliance violations
B. Identity theft

C. Unauthorized Access
D. All of the above

Q28. What is cloud computing?

A. Cloud Computing means storing data in a database

B. Cloud Computing isatool used to create an application

C. Cloud Computing means providing services like storage, servers, database, networking, etc
D. All of the above

Q29. What arethe cons of cloud computing?

A. Easy accessibility

B. Reliahility

C. High-security standards
D. All of the above

Q30. What isthe disadvantage of cloud computing?

A. Limited Control

B. Excellent accessibility

C. Unlimited storage capacity
D. Low maintenance cost
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